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Wadhle die richtige Antwort aus (Einerzahlen bis 5)
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Plusrechnen

2. 3. 4.

2+28= 2+41= 5+19 =
PR G@@®E ©OCE®
6. 7. 8.

3+39= 2+38= 3+30=
DHEE @RGE  OEEW
10. 11. 12.

3+ 4= 0+2= 5+ 19 =
OO GO0 ®EE®
14. 15. 16.

5+19 = 3+34= 3+21=
OEEE GHHOE  ®EHE0
18. 19. 20.

5+ 17 = 5+38 = 4+ 17 =
OBRO® GOR@HE @O
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Wadhle die richtige Antwort aus (Einerzahlen bis 5) | ANTWORTEN

Plusrechnen

1.3+16= 2'2+28= 3,.2+4'I= 4'5+19=
DO EOOE G@E® ©@EE
5.5+40= 6'3+39= 7.2+38= 8.3+30=
OO®E BW®@E0) @EEE OGO
9.3+33= 10.3+4= 11.0+2= 12.5+19=
9EE® OO OO0 ®®@E®
13.1 . 14.5+ o 15.3+34= 16.3+21 )
OOOO @O®®E GHOEE ®@@E
17.2+45= 18.5+17= 19.5+38= 20.4+ .
®O®E O@0OE ®ER®E®E ®EE)



